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<RX DUH LQYWHG IR DSSI\ IRU IKH SRMILRQ RI ((HPHQIDW\ 7HDRKHU  #K *UDGH ODIIK DIl /DNHU
6FKRRIVLQ +XURQ &RXQI\ OLFAKLIDQ =H DUH D GIMIULAI RI DSSUR[ LPDIIH0\ MIXGHQIV ZLIK D
IX0 FRPSIHPHQW RI H[ INDEXWLEXIDU RIHULQJVLQ IKH DUV DIKOHILFV DJULEXIIXUH DQG DFDGHPLF
DUHDV = H UHRHQI\ FRPSIHIHG D O LPSURYHPHQI SURIHAI IKDIl KDV SURYL.GHG RXU MIDII DQG
MIXGHQIV ZLIK VRPH RI IKH EHW IHFKQRIRJ\ RDWURRPV DQG IDRLILHV DYDUDEIH DQ\ ZKHUH 7KH
/DNHU 6FKRRI = IMIULAI LV ZHI) IXQGHG MIDEH DQG SURJUIHWIYH ZUIK D FRP PLIHG LQVIUXAILRQDD
VDIl DGPLQIMIUDILRQ DQG %RDUG RI (GXFDILRQ 2XU (\HPHQIDW VD ILPH &DSIXUQJ -GV
+HDUIV 1.DILRQD) 6KRZFDWH 6FKRRI DQG D 86 1HZVDQG = RUG SHSRUINIRS HHPHQIDW VFKRRI
1Q OLFKLIDQ )RU DGGLILRQDI GIMIULAI LQIRUPDILRQ  SIHDWH VHH RXU ZHEMIIH D

ZZZ IDNHUIMKRRIV RUJ

48%/.).&%$7.216

OHHI IHDFKHU TXDILILFDILRQVRI IKH 6IDIH RI OLFKLIDQ
= IQIQHWIIR HQIDJH LQ IKH VKRR FRPPXQUA IKURXJK H[ IUDFXUULEXIDU DRILYULHY DQG H] 1D
GXIN DVWLIQPHQIV

= 25. <($5 6IDQGDIG 6FKRR) <HDU

63/$5<  %(1().76 3HI ODVIHU $IUHHPHQI ZUK FRQMGHUDILRQ JLYHQ IRU HGXFDILRQ DQG
H[ SHUHQFPH 6DIDU\ UDQJH LV FXUHQI SIXVIX0 IDPI\ KHDIIK YIMRQ — GHQIDO

$33/.&%$7.21 352&("85(6

$SSIFDQI WKRXIG SURYLGH IIKH IRNIRZLQJ

Y /HIHU RU HPDL MIDILQJ LQIHUHWI LQ IKH SRMILRQ IR - 100 SHUKHI (HPHQIDU\ 3UQRSDI
Y &XUWHQN SUIRIHWARQDI UHVXPH LQRXGLQJ DI (HDWWKUHH ~ (HIlIHUV RI UHIHUHQFH

$33/< 72 - 100 SHUKHI 3ULQHSDI
WHUWKHIAFADNHUVKRRIV RUJ
(INRQ 3LIHRQ %D\ 3RUI 6FKRRI = [MIULFI
3LIHRQ SRDG
3lJHRQ O,

(/1 ORQGD\ "HFHPEHU QG RU XQiL ILNHG



